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OBJECTIVE 11

L. Pick the correct options.
(a) All electrons have magnetic moment.
(b) All protons have magnetic moment.
(e All nuclei have magnetic moment.
td) All atoms have magnetic moment.
2. The permanent magnetic moment of the atoms of a
material is not zero. The material
{8} must be paramagnetic (b) must be diamagnetic
fc) must be ferromagnetic  (d) may be paramagnetic,
3. The permanent magnetic moment of the atoms aof n
material is zero. The material
(a) muet be paramagnetic (b) must be diamagnetic
fe) must be ferromagnetic  (d) may be paramagnetic.
4. Which of the following pairs has quantities of the same
dimensions ?
(a) Magnetic field B and magnetizing field intensity
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6. Mark out the correct Optionsg

(a) Diamagnetism occurs in all materialy

(b} Diamagnetiam results from the partial
permanent magnetic moment.

() The magnetizing field intensity H is always tero m
free space

{d) The magnetic field of induced magnetic moment »
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opposite to the applied field.
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EXERCISES
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1. The magnetic intensity H at the centee of a long solenid
o 8 current of 20 A, is found to be 1500 A m™".
- Find the number of turns per centimetre of the solenoid.
| is inserted ms the core in the current-carrying

of the previous problem. (a) What is the
intensity H at the centre? (b) If the
gneti I of the core is found to be 0'12 Am ',
6 .ﬁmﬁﬂﬁnmn{mm.mpm
_ material paramagnetic, diamagnetic or ferromagnetic ?
3. The magnetic field inside a long solenoid having

; % M.*-hmzmﬂnm'wma-ﬂ

(b) the magnetization I of the core and (¢) the pse
strength developed in the core.

4. A bar magnet of length 1 cm and crosg-sectional ar
10 cm” produces a magnetie field of 15 x 10 T
point in end-on position at o distance 15 cm away hj:
the centre. (a) Find the magnetic moment M o
magnet. (h) Find the magnetization [ of the 'ﬂg
(e) Find the magnetic field H at the md::::sﬂ“

5. The susceptibility of annealed iron at saturs _ z
Find the pm-muyhilitr of annealed fron at saturstiot |
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B Prss. & om i material are found to be 16 T and 1 A
- imserted into it. Find (a) the current in the solencid,
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